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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of

questions contained in the Question Paper are the same as those printed on the top of the

first page. Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives

given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the

Answer-Book given to you.

Making any identification mark in the Answer-Book or writing Roll Number anywhere

other than the specified places will lead to disqualification of the candidate.

(a)  This Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.

Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or

any such electronic devices in the Examination Hall.

In case of any doubt or confusion in the question paper, the English version will prevail.

Write your Question Paper Code No. 68/S/0, Set-[A] on the Answer-Book.
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NOTE / it :

(1) Answers of all questions are to be given in the Answer-Book given to

(2) 15 minutes time has been allotted to read this question paper. The

you.

9l URAT o TR SATHRT & TR ST gRKeR | g ford |

question paper will be distributed at 02.15 p.m. From 02.15 p.m. to
02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.

T G- ! 9+ & foa 15 fifee o1 ww@ & 1 § | 999-91 bt faraRor et
T 02.15 o foham STEm | 02.15 &t ¥ 02.30 &1 o B halel Y9-UF hl 9l
3R 39 2mafy & SRE 3 SR-YRHT R HIE SN Tl e |
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ENTREPRENEURSHIP

(Sarf)

(249)
Time : 3 Hours] [Maximum Marks : 100
qqg ;3 "] [qurics : 100
Note : (i) This question paper consists of 51 questions in all.

(ii)) All questions are compulsory. Internal choices are given wherever required.

(iii) Marks are given against each question.

(iv) Section A consists of Question No. 1 to 20 that are Multiple Choice Questions
carrying 1 mark each. Select and write the most appropriate option out of
the four provided in some of these questions.

(v) Section B consists of Objective Type Questions No. 21 to 35 carry 2 marks
each. Attempt these questions as per the instructions given for each of the
questions.

(vi) Section C consists of
(a) Question number 36 to 41, Very Short Answer Type Questions carrying

2 Marks each to be answered in the range of 30 to 50 words.
(b) Question number 42 to 47, Short Answer Type Questions carrying
3 Marks each to be answered in the range of 50 to 80 words.
(¢) Question number 48 to 51, Long Answer Type Questions carrying
5 Marks each to be answered in the range of 80 to 120 words.
fRar: () 39 99799 ¥ a 51 Ued 2|

(i) TN weT oA T W&l i orasud &, HAdiied [deed U MW )

(iii) J® 999 & WY o i ™ ¥

(iv) @vE—A ¥ 9T Te&r 1 § 20 9% YAs Sgabedd st &, Yds 9T 1 3w
H EIITH Y IAD YT 7 IR famedl § § 999 SUgdd faeed w1 99|
H R ford |

(v) ®-B ¥ IS YHR & YT G 21 ¥ 35 9@ YA & MU 2 3id F|
Ta% U % fau fou o fcst 6 oER 39 ueAl % SuX Qg

(vi) @e—-C ¥ ot & —

(a) TsT €T 36 T 41 MI-TLIAX T &b T&H U9 & forg 2 afe Faifia 2,
e SaX 30 ¥ 50 sl @ WEn H fEEmr S o)
(b) UsT €T 42 ¥ 47 WA YBR b T&H U & fau 3 o feifa &,
e I 50 ¥ 80 er=ai @ W # e S g
(c) v weAr 48 ¥ 51 H-—IAT YBR & Ydd U9 & fog 5 i fuifa g,
5 enr 3R 80 ¥ 120 stal & dWT A feEn W R
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SECTION - A/ @%E - A

Questions 1 to 20 are multiple choice questions. Internal choices are given wherever
necessary.

Ut 1 9 20 T Sglamedid 99T ¢ | STel A1 fasad &, sfidie faeed fau g 2|

1  Which of the following is not an example of self-employment? 1
(A) Online tutoring
(B) Opening an online shop and doing regular business.
(C) Running an errand service.
(D) Teaching in a school.
frfafead & ¥ dF—a1 @ISR B &0 T8l & 7
(A) AT S
(B) U&% AT §HM @Al 3R Fafid SFad™ B
(C) TUHh HE YaT TA™T

(D) faemea & fareror
2 Lack of capability is concerned with - 1
(A) Pull factors (B) Push factors
(C) Both (A) and (B) (D) None of the above
AT B HH B HEY § —
(A) diee 9 &R® (B) e A B
(C) (A) &R (B) I (D) SO # § B T
3 A business with a turnover of upto Rs. 5 crore is - 1
(A) Micro enterprise (B) Small enterprise
(C) Medium enterprise (D) Large enterprise
5 BT BT b % TSR Il FI9d § —
(A) q&q SoH (B) @y wEm
(C) #egHq I=FH (D) ==t 3EH
4  The share of enterprise sales in total market sales is said to be: 1
(A) Increased revenue (B) Increased profits
(C) Market share (D) All of the above
F TR Tl & Sew &Y faehr & | BT BET I §
(A) o™ H ghg (B) @™ # ghg
(C) SNk ¥ e (D) JUX & g
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5  Which of the following is the least degree of innovation? 1

(A) Radical (B) Incremental
(C) Imitation (D) Continuous
frfafad & ¥ dF—a1 FaaR & gAad S0 § 7
(A) wifes (B) ZwmHed
(C) Aow (D) &
6  Having an edge over the competitors is called - 1
(A) Competitive advantage (B) Productivity
(C) Effectiveness (D) Resource optimization
yforafial X Sgd I9MT wEdr § -
(A) wiqeuies @y (B) SarEdhdr
(C) wHTasiedr (D) GEree Srga
7  The attitude of an entrepreneur is - 1
(A) Networking (B) Dishonesty
(C) Disrespect (D) Inefficient
T% IEH BT BT F —
(A) ~reafdT (B) <A
(C) &= (D) a1t

8 Motivation of one person differs from the motivation of another person, even 1
when both are engaged in same activity, because it is -
(A) A complex process (B) Efficiency specific
(C) No easily observed (D) None of these
Teh AR Dl YU @Y Al @l Y0 8 f91 Bl &, 9ol &1 a1 Ueb &l wfatafy o
I B, Hife 9’ § -

(A) U SIfed Uioha (B) zarar fatsmwe
(C) oTEmT ¥ oY 7el ofmar (D) 3® § @5 e
9  Identify the quality of an entrepreneur - 1
(A) Lack of confidence (B) Lack of vision
(C) Tolerance level (D) Unbhealthy relationship
Teh ITH! B TUET Bl GEAH —
(A) STTEfTH B B (B) ERiar @1 sruma
(C) weAstied WX (D) orERy GeY
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10 Identification of your bad habits or toxic traits under SWOT is - 1

(A) Your strength (B) Your weakness
(C) Opportunities (D) Threats
SWOT & ofifa amde! g1 oTeql a1 fawred @& ol Jead & —
(A) 3TUH HATgd U& (B) sm9e! HHSIT
(C) o (D) gt
11 Which of the following is an example of copyright? 1

(A) © Himalaya Publishing House, New Delhi, 2009
(B) Himalaya Publishing House, New Delhi, © 2009
(C) 2009, © Himalaya Publishing House, New Delhi
(D) Himalaya Publishing House ©, 2009, New Delhi
frrfafad & 9 @F—d1 HURFE B IAEIT 8 7
(A) © fewera uffiim eew, =8 fawdl, 2009
(B) fReem ufedfyin &g, 2 &, © 2009
(C) 2009, © fearea ufsafytT zrew, 78 e
(D) e ufeafyin g™, © 2009, 78 fawl

12 The analysis in which efforts are made to review the infrastructural facilities 1
is known as -
(A) Market feasibility analysis (B) Technical feasibility analysis

(C) Financial feasibility analysis (D) Commercial feasibility analysis
Te fasawor fraw smareya giaumett & T e B3 &1 YA f6ar STdr €, Heard § —
(A) SR FgerEar fasaser (B) il raeriar fagesor

(C) forira ererdan fageroor (D) arforfoores eraemrar fageroor

13 Maximum number of partners as per rule 10 of the Companies (miscellaneous) 1
Rules 2014 is :
ot (fafae) fraw 2014 & =9 10 & SR 9FIERE @l sifawad S &:

(A) 50 (B) 20
(C) 100 (D) 200
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14 NIC Code stands for - 1
(A) National Industrial Classification Code
(B) National Ingredient Classification Code
(C) National Integrated Classification Code
(D) National Industrial Cooperative Code

TSEH] DIS B Tdad & —
(A) T sfEfe aiieT &S (B) e TuH B BHIS
(C) g Thighd THHT Ble (D) ¥ afeifie Teadrl Fis

15 Document that describes basic blueprint of the project 1
(A) Project report (B) Feasibility studies
(C) Detailed analysis (D) Performance reports
YU S GG % S W qui Bt § -
(A) wREsEr e (B) eEridl Sieqad
(C) fowga fasawor (D) frores far
16 The maximum number of partners in LLP are - 1
(A) 10 (B) 20
(C) 25 (D) No limit
LLP ¥ ARl &l sftenan ¥ & —
(A) 10 (B) 20
(C) 25 (D) g @mr &

17 Which government agency in India is responsible for implementing policies 1
and programs for the promotion and development of MSMEs?
(A) SEBI (Securities and Exchange Board of India)
(B) RBI (Reserve Bank of India)
(C) SIDBI (Small Industries Development Bank of India)
(D) NABARD (National Bank for Agriculture and Rural Development)

HRA ¥ B8l G TSl TITEUHs & Yar ofiR faem & fag ifwat ot st
A b b foy feEr &7

(A) H&1 (9 whodfa we fafma 9E)

(B) omEtems (WRaw e da)

(C) fosdt (IrdE &g Sem famm §)

(D) & (T iy &fie wwin fore 9a)
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18 What is the primary criterion for classifying enterprises as micro, small or 1
medium?

(A) Turnover
(B) Number of employees
(C) Investment in plant and machinery

(D) Export turnover
SEMl Bl GeH, WY 1 AGH b € H qBd BT Bl WATHEB WHES AT 7

(A) pa fama (B) weamfyEl &1 w@e
(C) dF= iR "M\ o et (D) frafa faspa
19  Which entity typically provides support and funding to startups in an 1
entrepreneurial ecosystem?
(A) Competitors (B) Venture capitalists
(C) Government regulators (D) Established corporations

DI IhTs MHAR 9T SEHeiieiar wiiRefd®! o= § RIET™ &l gerdr oK faa yem
HT & 7

(A) wiqarh (B) e dofmfe
(C) @il fams (D) wnfuq frm

20 What is the main objective of the Atal Incubation Center (AIC) program in 1
India?

(A) Promoting traditonal industries

(B) Fostering innovation and entrepreneurship

(C) Regulating the stock market

(D) Providing subsidies for exports

HRA ® ofed TR WX (TSTSH) wrRichH ol J&d Seed &l & 7

(A) urufie TERN @l gerEr < (B) -amm 8 TEmsiiaar &l Serar <=
(C) 9 IR & fafafa s (D) fafa & fau aafEl wem &
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SECTION - B /@ — B

Questions 21 to 35 carry two marks each. Internal choices are given wherever necessary.

999 21 § 35 O Y U9 A 3k Bl & | &l Sa9Th &, Aidiie [dwed fgu wu ¥

21 Match the following: (any two) 1x2=2
(i) Trading enterprise (a) Social problems
(i1)) Imitative entrepreneur (b) Type of business
(iii)) Social entrepreneur (c) Risk
(d) Ownership
Pretferfiae 1 e Y ¢ (@ Q)
(i) <e ST| (a) WG THET
(i) Srgeursiier Ia (b) HAMUR & B
(iil) dmTRSS IEHT (c) wifew
(d) w@iE
22 State true or false : (any two) 1x2=2
(1) The government does not help entrepreneurs in India.
(i1) Entrepreneur creates new innovation and technologies.
(iii) Corporate entrepreneurship is pioneered by Burgelman.
H AT A IR (B )
(i) 9Rd ¥ TR SufEl &I 7eg & Ll 5
(i) St 7 srfaeht o WEnfifeal s 1
(iil) HraE IAMAT BT TAYISTE BT B TIAaT aRT f6ar 71 7
23 Answer the following: (any one) 2x1=2
(a) Give two expressive values.
(b) Give two examples of IPR.
frrefefaa &1 sax AT (@1 )
(a) = sffvedsids qed AT
(b) emEde % I FareRer AT
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24 Complete the following statements: (any one) 2x1=2

(a) Creativity is the heart of and it gives competition edge to business
to increase turnover as a result of consumer

(b) motivation relates to tangible rewards and whereas
motivation relates to job itself.

frfafad weei &l g1 Hiva: (@15 )

(a) TIATHESBAT #1 o & SR g8 SuHre % URUTHEEY ZHaTER
qeM & [T Faua @ wfawyl § ded & )
(b) IO BT GG YA R ¢ iR Aiaw IO BT Sy
FHT H 7
25 State true or false: (any two) 1x2=2

(a) A road bridge technique can be applicable to solve the problem of
congestion of road bridge.

(b) If you dislike uncertainty, you will fear being creative.
(c) Hindrances are the support in the way of creativity.
e a1 TAd gAY ¢ (@ A)

(a) USH g0 Dl HISHE B AR Bl & & & (7 Sh Jd bl AT Dl S
ehdl 51

(b) afy smuepr STHTRIAAT T8 Ef &, dl 3 TS oF o S|
(c) TTATHSGAT @ T § ThrEe el & |

26 Complete the statements: (any two) 1x2=2
(a) Motivation is not a one-time activity, an individual needs to be
(b) Motivated employees try to achieve efficiency which leads to
(c) Companies practice ethics on their own to maintain their
FUA B A B (@ )
(a) RO Weh 9 I Ty i &, U AfRd Bl I SELIHhdT &l ol

(b) UG HHAT T U BT BT T B & o1 T Bl 2
(c) hufar s % ST @ & [T @ Afderar st # |
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27 Fill in the blanks: (any two) 1x2=2

(1) needs pertain to the survival of human beings like food, clothing,
air and water.

(i1) can be positive or negative.

(iii)) Habit thinking means a set way of thinking which tends to occur

o el & gfd Fif: (@ @)

i) AMILIHATT 97T & IR & Hafud § S 99, HUST, 7T X |
(ii) FHRTHB AT THRHB 8 Taball ¢ |
(ili) omed |/ &1 o1 & | & UH aiia qier s gfed gar B
28 Give answer in one word: (any two) 1x2=2

(i) From where do people learn their basic values?

(i) Name the core value without which an entrepreneur cannot sustain for
long in the market.

(iii) Name the attitude with the help of which an entrepreneur can tap the
opportunities in the market.

THh 1| H SaX AR : (@15 )
(i) @R o AR T Hel | drEd © 7
(i) € 9@ e & 99 qasg fee @ w13 Serdt soiR & &9 999 0% ok T2

bl T
(iii) 39 gfEeIv &1 W SaEy FHe gemar § Uh I8! SR | STaEil &1 aed
HT Ghal o1
29 Match the following: (any two) 1x2=2

(a) Economic feasibility study (i) Market demand
(b) Technical feasibility study (i1)) Labour force requirement
(c) Financial feasibility study (iii) Taxation liabilities

(iv) Core analysis

frfafea @1 fram St (@ )

(a) offie Taeran sTeaad (i) =R =
(b) TH-B HIEAT EFTT (i) 99 I @ STAITDBAT
(c) fodimr rermar sremmm (iii) L™ AT
(iv) T Rasareo
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30 Fill in the blanks : (any one) 2x1=2

) & are the two categories of financial resource on their
life span.
(i1) & are some well known methods of business resources.
e @M Wt (@ )
(i) 3 I%h Siadid X fadig dames & &t St ¥
(ii) R ARG GO & $B IS il & |
31 Answer the following: (any one) 2x1=2

(a) Give two contents of project report.

(b) Give two factors affecting choice of forms of company.
frfafad @1 SaT & (@5 )

(a) uhEsEn fRaié @t &t qeel Al

(b) Ul % WEY % TIA Bl YHIAT B A &l B ST |

32 Complete the following statements: (any one) 2x1=2

(a) KVIC is a body under the ministry of and promotes enterprises
like

(b) NABARD has schemes for both and sectors.

frefafaa HaAi &l g &L (BlE TH)

(a) KVIC AT & 3Tl Uh e § 8iX Y FEE B qgrar
EGIES

(b) - & U R gHl &= & Ty e

33 State true or false: (any two) 1x2=2
(a) The proprietary firm is an enterprise.
(b) The manufacturing sector and service sector are same.

(c) Commodity boards are statutory bodies under central government for
promoting export of particular commodity.

TE A1 T 9q13T: (Bl )
(a) TUhd Wiitd B Ush SaH 8|
(b) fafmior &= ok Tar &= Th & B |
(c) IS a1 fasiw &g & Frafa & Semar 39 & T &s aver & ordi Juife
e 21
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34

35

Complete the statements: (any two) 2x1=2
(a) Start-up Village is a

(b) Techno Park TBI

(c) AngelPrime believes in

HUAl BN QU BT (B A)

(a) Wr—3T fods s T

(b) 2o Ut e |

(c) USwYEH H fagama & )

Complete the table below: (any one) 2x1=2
Busineness Registration Under Which act Registration at

(a) Partnership firm

(b) Cooperative Society

A <1 g ATl Bl G B (Bl TE)

(a) wEET WH

(b) Hedry Tl

SECTION - C /@€ - C

Questions 36 to 51 are given below. Internal choices have been given wherever necessary.

T weT 36 @ 51 feu ww ¥ | WET snavge € 9§l ofidiie faeed fau MU ¥

36

37

How is NSIC useful in the growth of small business units? 2

@Y TaE IHEAl & fae ¥ TAuhensdl fhH YeR IR ¥ 7
OR / 1y

Write a short note on livelihood.

arTeiifaeT ¥ gftra femofy foafaw

State any two features of values. 2
Tl B D5 a1 fasivand saEy|
OR / sy

Explain "Resilience" as an attitude of an entrepreneur.

Tch SEHI b DIV o &Y H “WRIea’ @l Al By |
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38 Mention four documents required for UAM registration. 2
g U TH USIhA0T &% AU SEeddh 9 YUSi Bl Swid i |
OR / 3ty

"Company is an artificial person with perpetual succession." Explain the
statement.

“HUAT THT IAUHHR AT Th B AR &1 BT WE g

39 Name any two reputed institutions providing specialised training consultancy 2
and research on various aspects of entrepreneurship development.

Saftar faera & fafr deqet o fasiy gfitee wmsl o oEea™ e & a
el 3 wfafsa Ham™l & 9 gdu|

40 How State Financial Corporations help entrepreneurs in growth of their business? 2

g fom Frm Sl @ 39e g & faem ¥ e HeE &g § 7

41 State two functions of an incubator. 2

TRIEY & & B FAR|

42 People are migrating to cities in search of jobs. How is government addressing 3
this problem?

AT bl o7 T & T Bl AR T BT 18 & | GLhR 39 G 6T JHIE hd
HT @ &7

43 "The six thinking hats technique advocates thinking above a problem or 3
opportunity not by one perspective but by six different perspectives."
If you agree with the given statement, mention the colour of these hats
and what do they represent.

“Taerg RfchT 28 qbrich [hHT THEIT IT STET ¥ HUX 36T U GEhIU § Tl diceh
BE T3 SEhIUN & HIeH l deplad Hidl & 7 Afs 39 &Y T waF § 98ad
g, a1 37 A & TN &1 I B SR I 7 390 2 |
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44 Explain three factors governing business ethics. 3

AT, Afaehdl &l AR & a b ®iihl bl arer B
OR / 3@t

"It is said that motivation is a continuous and dynamic process." Explain.

“UET el WAl & o UOm U gad e sl wikar 17 @ S|

45 Financial motivators are monetary benefits given to employees to motivate 3
them and keep them excited about the work they do. Explain three such
motivators.

feria IR & wifses mw € S wHEAl d URT B SR 36 W 6y S A
®M % Yid IATed W@ & g f&T S €1 T8 A Sl Dl Aredn i |

46 Describe any three traditional sources of funds. 3
foa & fopel O Iuftes &ial @1 gue Hiferg |
OR / 3t

What do you understand by project report? State two purposes of project report.
Uiotge i & ey @ gwerd € ° Woge Rad & &1 Sesd aaed |

47 Differentiate between investment and turnover. 3
fraer o el % 99 Sfax saEy|
OR / 3ty
Define MSME as per Act, 2006.
aifaf™, 2006 % TR TATHUAS @ GCAINT it |

48 Entrepreneurs help to supplement and compliment the socio-economic growth 5
of the economy in several ways. Explain any five such ways.

SEHT %3 Tl ¥ STdAawdT % "HTNIh—ae fam & e oY §yie a9 # #eg
B & | UH D5 Uid qlich aargy |
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49

50

51

Hindrances are the rumble strips on the road of creativity. There are

certain circumstances where creativity, the outcome of the human mind, can
be hindered. State any three environmental hindrances and two measures to
overcome these hindrances.

GHEC TAAEThdl &I T8 UY HENRe digdl &1 $% URRIiqdr UHl gl § STl
TITHbAT I HIFE HiRd®h &l T ST & 9ehd & | fheel diF gataeng sremsett
3R 3% W HT & I Ul B el i |

OR / 3t¥an

Hindrances are the rumble strips on the road of creativity. There are
certain circumstances where creativity, the outcome of the human mind,
can be hindered. State any three tactical hindrances and two measures to
overcome these hindrances.

GHEC (ARl &I T8 UY HENee dizgdl &1 P8 dRgiqdr UHl gl § STl
TEATHGAT 9 JHE ARASh BT GO S1id &) 9abd & | fhel a9 amiie sremsti ofit
S W HH & 3 U Bl IAG DI |

Define private equity as a source of finance. Critically analyse private equity
fund as a source of finance.

for & &a & w9 § ol g8ar @ g &< | foa & @ia & w9 § ol guan
HT SATIAIHD [T e |

OR / 3an
Define venture capital as a source of finance. Also, explain the various criteria

considered by venture capitalist while placing their funds.
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"Business incubators help small business to get off the ground." Justify the
statement with suitable answer.
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